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\¥Op^r 
PUNJABI 

g`p£ gr`p£ : 3 K¥Ry   \vc²¾ A¥H : 100 
Time allowed : 3 hours Maximum Marks : 100 

 qHc\p HcHy q²¾crIV Hc de} qH qBg \of²¾ \§Wc Yy N\y h}By 8 \¥²y¾ h²¾ & 
 \of²¾ \§Wc Yy E¨\c g§Oy h§X qY§Wy JBy H}T ²¥¾. ²¥¾v \orqIApcXr E¨Wc \tgqWHp Yy 

`t§I \¥²y¾ EWy kcvc qd§IV & 
 qHc\p HcHy YyI de} qH qBg \of²¾ \§Wc qeM 16 \of²¾ h²¾ & 
 qHc\p HcHy E¨Wc qdIVp ftcv Hc²¾ W~ \qhdp£, \of²¾ Yp n`p£H (grqcAd ²¥¾^c) kcvc 

qd§I} & 
 qBg \of²¾ \§Wc ²¥¾v \mª²¾ Yy dBr 15 q`¥R Yp g`p£ qY§Wp qJAp h± & \of²¾ \§Wc 

geycy 10.15 eOy e¥Ty OpVJy & 10.15 eOy W~ 10.30 eOy WH \orqIApcXr Hyed \of²¾ 
\§Wc ²¥¾v \mª²¾Jy AWy qBg g`y qeM Eh E¨Wc \tgqWHp qeM H}Br E¨Wc ²¾hs 
qdIVJy & 

  Please check that this question paper contains 8 printed pages. 

  Code number given on the right hand side of the question paper should be 
written on the title page of the answer-book by the candidate. 

  Please check that this question paper contains 16 questions. 

  Please write down the Serial Number of the question before 

attempting it. 

  15 minute time has been allotted to read this question paper. The question 

paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the 
students will read the question paper only and will not write any answer on 

the answer-book during this period. 
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1. hyS¾p£ qdIy \±cy ²¥¾v qZAp²¾ ²¾pd \mª Hy Eg hyS¾ qY§Wy \of²¾p£ Yy E¨Wc qdI} : 10 

 _pez eyY qBdhp`r h²¾, \c Hr qOg cv\ qe§M Eh eyY qcfrAp£ ²¥¾v 

²¾pqkd h}By g²¾, S¾rH Egy cv\ qe§M gpTy W§H A\my h²¾ ? EY~ Wp£ qdIV dBr 

H}Br qd\r hr ²¾hs gr, ³yc .. qHez qdIy JBy & qBh Wp£ qcfrAp£ Yy 

A²¾®ApBrAp£ ²y¾ Ap\Vy qM§W-`¥Yc qe§M MyWy cphs g¥_pd Hy c§Iy AWy ³yc A§J~ 

gr²¾p-^gr²¾p WtcYy ApBy & d§J_§J qB§H hkpc gpd `Jc~ ‘ ôh`r qd\r’ h~Y 

qe§M ApBr Wy eyY `¥Wcp£ ²y¾ qdIWr cv\ qdAp & qh¥Yv Zpcq`H Jo¥Xp£ ²¥¾v Y} 

qh§qgAp£ qe§M e¥qTAp qJAp h± & qB§H h± fctWr AWy YvOp g`qcWr & eyY, 

E\q²¾fY fctWr qeM fpq`d HrWy Op£Yy h²¾ AWy qg`cWrAp£ qOez `²¾¯g`qcWr 

AWy \tcpV g`qcWr ecJ qe§M ApE¤Yy h²¾ & fctWr Eh Zpcq`H Jo¥X h²¾ 

qO²¾ªp£ ²¥¾v qcfrAp£ `t²¾rAp£ H}d~ gtV Hy AWy ^pAY qeM apY qeM~ qdIW cv\ 

qe§M qdAp£Yp qJAp & qBg \oHpc g¥_e h± qH qd\r^§Z h}V WH qB²¾ªp£ qe§M 

X}mr ^htW qgdeR er h} JBr h}ey & 

(C) qd\r Hr ht¥Yr h± ? 

(A) eyY-`¥Wc gpTy WH qHez \ht¥My ? 

(B) fctWr ²¾pd qHhmy Jo¥X g¥^¥qZW h²¾ ? 

(g) qh¥Yv Zpcq`H Jo¥Xp£ ²¥¾v qH²¾ªp£ Y} ecJp£ qe§M e¥qTAp Op£Yp h± ? 

(h) ‘gr²¾p-^gr²¾p’ AWy ‘qBdhp`r’ Yy AcX Y§g} & 
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2. hyS¾ qdIy qeqfAp£ qeM~ qHgy qB§H  E¨Wy (200 – 250 f^Yp£ Yp) dyI qdI} : 10 

(C) Ore²¾ qe§M gp³ g³pBr Yp `hW§e 

(A) Jcr^r Yr g §̀qgAp 

(B) fhrY _JW qg¥K 

(g) Ore²¾ qe§M Zc` Yp `hW§e 

3. Ap\Vy qeYyf egYy q`§Wc ²¥¾v Eg H}d \ht¥MV AWy HtP Yyc cqhV Yy \o}Jcp` 
^pcy Br `yd cphs Yg} & 7 

                                  Op£ 

 Ap\Vy Kc Yy \tcpVy ³c²¾rMc ²¥¾v eyMV dBr Ai^pc epgWy qB§H qBfqWhpc 
qWApc Hc} &  

4. q³cHv HWdp£ ^pcy Ap\Vy qeMpc YgqYAp£ Ai^pc Yy g¥\pYH ²¥¾v qM§S¾r qdI} &  8 

                      Op £ 

 Yrepdr Yy `hW§e ^pcy Ap\Vy qeMpcp£ ²¥¾v \yf HcqYAp£ Ai^pc Yy g¥\pYH ²¥¾v 
\§Wc qdI} & 

5. hyS¾ qdIy `thpeqcAp£ qeM~ qW¥²¾  Yy AcX g§\fR Hc} AWy E²¾ªp£ ²¥¾v epHp£ qe§M 

ecW} :  3 

(C) ²§¾H e§RVp 

(A) Ypmª hyS¾ ApEVp 

(B) \±c AmpEVy 

(g) _v¥Tp£ Yy I§Ic ²¥¾v h§X \pEVp 

(h) epd epd ^MVp 
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6. (i) hyS¾ qdqIAp£ qe§M~ ft§Z f^Y-O}m MtV} :  2 

(1) (C) g}Vp 

 (A) g¡Vp 

 (B) g±Vp 

 (g) g¡²¾p 

(2) (C) Ppmv 

 (A) Opcv 

 (B) Opmv 

 (g) Ppcv 

(ii) hyS¾ qdIy f^Yp£ ²¥¾v ft§Z Hc Hy qdI} : 2 

(C) g}hcp 

(A) qJhVp 

(iii) f^Y O}mp£ Yy ²y¾`p£ ²¥¾v qZAp²¾ qe§M cIqYAp Y§g} qH hyS¾ qdIy dHrcy 

f^Yp£ qe§M~ qHhmp f^Y ecqWAp Opey : 2 

(C) qHgy ²¥¾v EZpc/EYpc YyVp Ytf`Vr t̀§d d±Vp h± & 

(A) E²¾ªp£ ²¥¾v JepqMAp h}qBAp Ht§Wp d§_/d^ qJAp h± & 

7. hyS¾ qdIy \±cy ²¥¾v ghr qegcp`-qM¥²¾ª dJpG : 3 

`| qO§Xy er qchp hp£ ²y¾H²¾p`r hr dBr h± ^Y²¾p`r ²¾hs qBg g¥ ¥̂Zr Wtgs `ycy 

qHgy OpVHpc \pg~ er \Wp Hc gHYy h} e±gy `±²¥¾v PvS¾ ^}dV Yr Hr d}m h± 
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8. hyS¾ qdIy epHp£ ²¥¾v ft§Z Hc Hy qdI} : 3 

(C) Wv¥, `| Wy Eh IpVp IpV OpeyJp  

(A) Ht§Wp qBh \pdWv h± 

(B) grWp ²y¾ ApqIAp `| gHvd ²¾hr OpVp 

9. hyS¾p£ qdIrAp£ Hpqe-RtHmrAp£ qe§M~ qHgy qB§H  hyS¾ qY§Wy \of²¾p£ Yy E¨Wc qdI} : 8  8 

_RHV N§T, dRH dp qB§H} 

Irer h} gt§I `pVr, 

h}fp£ ²¾pd~ `gWr M¥Jr 

cIYr gYp qRHpVy & 

(i) ‘h}fp£ ²¾pd~ `gWr M¥Jr’ qHE¤ h± ? 

(ii) ‘_RHV’ AWy ‘Irer’ Yy AcX g§\fR Hc} & 

(iii) qBh gWcp£ qHg Her Yr qHg HqeWp qeM~ h²¾ ? 

(iv) qBh g§Wcp£ qHg Wcªp£ Yy Ore²¾ Yp g¥Yyf qY¥YrAp£ h²¾ ? 

                         Op£ 

ZcWr Yy hyS¾p£ 

HYy Z¡d gr 

Zc` gr 

htV `ycr Zr h± 

(i) qB²¾ªp£ gWcp£ Yp \o`t§I _pe Hr h± ? 

(ii) ‘ZcWr hyS¾ Z¡d’ Yy Hr AcX h²¾ ? 

(iii) Z¡d AWy Zc` Yr Xp£ htV Zr h± – qBh Hqh Hy Her Hr HqhVp 
Mpht¥Yp h± ? 

(iv) qBh gWcp£ qHg Her Yr qHg HqeWp qeM~ h²¾ ? 
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10. hyS¾ qdIrAp£ Hpqe-RtHmrAp£ qeM~ qHgy qB§H  Yr \og¥J gqhW qeApqIAp Hc} : 7 

q²§¾Hr qOhr qO¥Y ỳcr WphrG¤, 

q²§¾Hy c§^ ²¾pd \pqBAp q\Apc 

q²§¾Hy c§^ YrAp£ q²§¾HrAp£ J§dp£ 

q²§¾Hy c}gy, q²§¾Hy hpgy & 

      Op£ 

Wjq`Ap£ Yr Xp£ qhH qeM J}drAp£ 

qBh er qBH g²¾`p²¾ Yp A¥Ypk h± 

qBh ²¾hr ApHpfepVr Y}gW} 

qBh Wp£ ZtiYr ZcWr Yr Apepk h± 

11. hyS¾p£ qdIy epcWpdp\-A¥fp£ ²¥¾v \m}ª AWy qHgy qB§H  hyS¾ qY§Wy \of²¾p£ Yy E¨Wc 
qdI} :  3 

fp` h}Br & K}Jy Yp O`pWr, qBH^pd Eh²¥¾v q`dV Ap qJAp & K}Jy Yr 
`p£ ²y¾ q\Apcp qOhp Edp£_p qY§Wp, ‘‘HpHp, Wv¥ Wp£ ApEV~ Br hR  
qJAp ! `| Wp qB§H qY²¾ K}Jy ²¥¾v \t§qNAp, ^Br Wtgs qHWy dm dtm Wp£ ²¾r 
\By !’’ 

(i) ‘q\Apcp qOhp Edp£_p’ Hr ht¥Yp h± ? 

(ii) K}Jy Yr `p£ Yp Edp£_p Hr h± ? 

(iii) qB²¾ªp£ gWcp£ qe§M `p£ Yy qHg _pe Yp \oJRpep h± ? 

Op£ 

^htW qY²¾p£ q\N~ K}Jp A§O ³yc Itf gr & Eh qB¥O Wtc qchp gr, qOez 
EhYy \±cp£ ²¥¾v I¥_ d§J JBy h}V & YepBr epdr frfr Eh²y¾ q²¾H§c Yr 
g§Or Oy^ qe§M \p dBr gr & Oy^ ²¥¾v Eh g§Oy h§X ²¾pd epc-epc R}h 
qchp gr & 

(i) K}Jp A§O itf qHE¤ gr ? 

(ii) YepBr epdr frfr Eg²¥¾v qHg ²y¾ qY§Wr gr ? 

(iii) ‘\±cp£ ²¥¾v I§_ dJV’ Yy Hr AcX h²¾ ?  
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12. ‘JtApqMAp t̀¥Tp’ qe§M qBg ²¾ped Yp ²¾pqBH, K}Jp qYfphrV qHE¤ h± ? 7 

                            Op£ 

 ‘JtApqMAp t̀¥Tp’ ²¾ped qeM \yf K}Jy Yy qeehpc ²¥¾v g§\gR Hc} & 

13. hyS¾p£ qdIy HXp-A¥fp£ qeM~ qHgy qB§H  Yy hyS¾dy \of²¾p£ Yy E¨Wc qdI} : 2+2+1=5  8 

  Eh OpVYy g²¾ qH Kc qe§M Zr Yp qeAph gtqZAp h}qBAp h± & 

qgApVy-q^ApVy h} Hy qBH `vcI eqh` `Jc dJ Hy E²¾ªp£ AqOhy `¡Hy ’Wy gpcy 

\cepc dBr fp`W Imr Hc qY§Wr gr & g`P ²¾hs gr ApE¤Yr qH Hr HrWp 

OpBy & 

(i) Kc qeM qBg gpcy epWpecV Yp Hr HpcV h± ? 

(ii) qBXy qHg eqh` Yr Jd h} chr h± ? 

(iii) ‘qeAph gtZVp’ Yy Hr AcX h²¾ ?  

Op£ 

  H}cy Ht§Oy qeM g¡ Yp ²}¾R cIYy Eh²y¾ ²¾ez Xp²¾ ²¾pd~ drc \pm Hy EhYp 

`v¥h ^¥²¾ª qY§Wp & Ht§Op Eh H§Mr H}S¾r qeM c§I Hy d¥`p \± qJAp & gpcr Yr 

gpcr cpW Eh \pgy `pcYp qchp & Eh²¥¾v ²¾sY ²¾hs gr Ap chr &  

(i) Eg²¥¾v g¡ Yp ²}¾R qHX~ q`qdAp gr ? 

(ii) Eg²¥¾v ²¾sY qHE¤ ²¾hs Ap chr gr ? 

(iii) ‘\pgy `pc²¾’ Yy Hr AcX h²¾ ?   

14. ‘Ap\} Ap\Vp qh§gp’ HhpVr qHg g`§qgAp ²¥¾v \yf HcYr h± ? (f^Y  
gr`p 100 – 125) 5 

                                Op£ 

‘eqh¥Jr’ HhpVr qe§M ApkpYr Yy g¥Kcf qeM \pWc Yyf cpO Yp Hr a}JYp²¾ 

qchp h± ? Yyg cpO Yy MqcWo ^pcy McMp Hc} & (f^Y gr`p 100 – 125) 



4 8 

15. ‘Jtc`qW Hpqe’ YrAp£ \o`t§I qefyfWpep£ ^pcy (150 – 200 f^Yp£ qe§M) qeMpc 

Y§g} &  10 

Op£ 

\¥Op^r gv³r Hpqe ^pcy 150 – 200 f^Yp£ qeM Ap\Vy qeMpc \yf Hc} & 

16. HYcp£ Hr`Wp£ ’Wy ApZpqcW \of²¾ : 5 

‘‘WerW epdp \pVr \r Hy Eh²¥¾v d§qJAp, gcrc qe§M MtgWr Ohr Ap JBr  

h± & \qhdp£ OY~ gt§Wp ES¾Yp gr Wp qH¥²¾p-qH¥²¾p qMc A§Ip£ hr ²¾hs g²¾ 

ItdªYrAp£ & A§O Eh \vcr Wcªp£ gtMyW gr &’’ 

Hr Wtgs qBg \±cy qeM qY§Wy qeMpcp£ ²¾pd gqh`W h} ? Hr WerW Op£ OpYv-R}Vy 

qHgy H¥` qe§M ghpBr h} gHYy h²¾ – qBg ^pcy 100 Ht f^Yp£ qeM qeMpc \yf 

Hc} & 

 21,000 


